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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
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Compute the variance and standard deviation.
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Xi d,' = Xj — 48 d,2
38 -10

70 22
48 0
34
42
55
63
46
54
44

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance 4/4



The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
38 -10 100
70 22
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
38 -10 100
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
38 -10 100
70 22 484
48 0 0

34 -14 196
42 -6 36
55 7 49
63 15 225
46 -2 4
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
38 -10 100
70 22 484
48 0 0
34 -14 196
42 -6 36
55 7 49
63 15 225
46 -2 4
54 6 36
44 -4 16
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
38 -10 100
70 22 484
48 0 0
34 -14 196
42 -6 36
55 7 49
63 15 225
46 -2 4
54 6 36
44 -4 16
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
38 -10 100
70 22 484
48 0 0
34 -14 196
42 -6 36
55 7 49
63 15 225
46 -2 4
54 6 36
44 -4 16

n=10
Sdi=14
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
38 -10 100
70 22 484
48 0 0
34 -14 196
42 -6 36
55 7 49
63 15 225
46 -2 4
54 6 36
44 -4 16
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Sd; =14
S d? = 1146

Var(X) = ;(32 d7) = (3 3 di)?
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2 n=10

38 -10 100 | >di=14

70 22 484 | > d? = 1146

48 0 0 | Var(X)=1(Xd?) - (32 d)?
34 17 To6 1 Var(X) =132 =11264
42 -6 36

55 7 49

63 15 225

46 -2 4

54 6 36

44 -4 16
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The scores of a batsman in 10 matches were as follows: 38, 70, 48, 34, 42, 55, 63, 46, 54, 44.
Compute the variance and standard deviation.

Xi d,' = Xj — 48 d,2
38 -10 100
70 22 484
48 0 0
34 -14 196
42 -6 36
55 7 49
63 15 225
46 -2 4
54 6 36
44 -4 16

n=10
Sd; =14
S d? = 1146

Var(X) = (> d?) — (; X di)?
Var(X) = 1330 = 112 64
S.D.= \/Var =/112.64 = 10.61
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